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Q:1 Select the number-pair in which the two
numbers are related in the same way as the two
numbers of the following number-pair.

4:128

1.6:430
2.3:54
3.2:32
4.9 :152

Q:2 Select the set in which the numbers are related
in the same way as the numbers of the following
set.

(12, 54,15)
(n, 46,12)
1. (12, 60, 12)
2. (15, 51,10)
3.(13,70,17)
4. (10,58,19)

Q:3 Select the related number set from the given
alternatives.

6:18::7?
1.10: 25
2.5:10
3.8:32
4.4:9

Q:4 Select the number pair in which the

three numbers are related in the same way as the
two numbers of the following number pair.
9:90::12:156::15:?

1. 220

2.230

3.240

4.225

Q:5 Select the option in which the numbers share
the same relationship as that shared by the given
pair of numbers.

(6, 4,28)
(7.5, 39)
1. (8,6,52)
2.(3,1,8)
3.(9,2,75)
4. (5,2 29)

Q:6 Select the option that is related to the third
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number in the same way as the second number is
related to first number and the sixth number is
related to the fifth number.

89:34::62:?::45:18
1. 60
2. 61
3.64
4. 63

Q:7 Select the option in which the numbers are
related in the same way as the numbers of the
following set.

(59, 20,13)
(49,14,15)
1. (68,13,12)
2. (81,87,11)
3.(38,8,44)
4. (58,18,13)

Q:8 Select the option in which the numbers are
related in the same way as the numbers of the
following set.

(69,12,13)

(58, 8,15)

1. (39,13,12)

2. (91,8,11)

3.(78,81)

4. (67,10,13)

Q:9 Select the set in which the numbers are related
in the same way as are the numbers of

the following sets.

(NOTE : Operations should be performed on the
whole numbers, without breaking

down the numbers into its constituent digits. E.g. 13
— Operations on 13 such as

adding /deleting /multiplying etc. to 13 can be
performed. Breaking down 13 into 1 and

3 and then performing mathematical operations
onland 3is NOT ollowed)

(1,33,17), (18, 54, 24)

1. (8,24,17)
2.(9,27,1)
3.(3,9,7)

4. (5,15, 1)

Q:10 Select the option that is related to the third
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number in the same way as the second number is
related to the first number.

5:27::9:°7

1. 80

2.85

3.83

4. 9]
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IAnswer Key
1. (2) 2. (4) 3. (3) 4. (3) 5. (1)
6. (3) 7.(4) 8. (4) 9. (4) 10. (3)

Q:1 The correct answer is Option 2 i.e. 3: 54
Logic — X : 2X3

Given pair

4:128

Here,

2x43=2x64=128

Similarly, 3 : 54

2x33=2x27=54

Hence, 3 : b4 is the correct answer.

Q:2 The correct answer is Option 4 i.e. (10, 58, 19)

x2=27x2=54

Check dall options one by one:

(12, 60,12)

12 +12 = 24 x 2 = 48 is not equal to 60.
(15, 51,10)

15 +10 = 25 x 2 = B0 is not equal to 5.
(13, 70,17)

13 +17 = 30 x 2 = 60 is not equal to 70.
(10, 58,19)

10+19=29 x2=58

58 = 58

Q:3 The correct answer is Option 3 i.e. 8 : 32

The pattern used is:

First number: A

Second number = A2/2

So the number set which follows a similar pattern
is (8:32)

A=8

B =82/2=32

Q:4 The correct answer is Option 3 i.e. 240

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com

)l
1LV HI)

Ensuring success through skills

WB Civil Services

"THIE _ DAILY
RONAS [ DOSE ]

Logical Reasoning - Number Analogy

Other Competitive Exams

Logic:

S)econd number = First number x (First number +
1

9:90

9x(9+1)=9x10=090

Similarly,

12 : 156

12x (12+1) =12 x13 =156

S0,15 x (15 +1) =15 x 16 = 240

Hence, the correct answer is 240.

Q:5 The correct answer is Option 1 i.e. (8,6,52)

Logic: (First r1umber)2 - 2 x Second number =
Third number

Given series: (6, 4, 28)
(6)2-2x4=36-8=28

and, (7,5, 39)
(7)2-2x5=49-10=239

Similarly, (8, 6, 52)
(8)2-2x6=64-12=52

Hence, the correct answer is (8, 6, 52).

Q:6 The correct answer is Option 3 i.e. 64

Logic: The absolute difference of the square of
digits of the 1st number is multiplied by 2 to obtain
the 2nd number.

Ist number = 89

2nd number = [(9%2 - 82) x 2] = [(81-64) x 2] =
(17 x2) =34

The absolute difference of the square of digits of
the 5th number is multiplied by 2 to obtain the 6th
numbper.

5th number = 45

6th number = [(52 - 42) x 2] = [(25-16) x 2] =
(9x2)=18

Similarly,

The absolute difference of the square of digits of
the 3rd number is multiplied by 2 to obtain the 4th
number.

3rd number = 62

4th number = [(62-22) x 2] = [(36-4) x 2] =
(32x2) =64

So, 4th number = 64.

Q:7 The correct answer is Option 4 i.e. (58, 18, 13)
Logic: The following logic is used
(59, 20,13)
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=[(5+9)-(1+3)] x2 =9
= (14 - 4) x 2 =9 (not equal to 8)
=20 3) (78,8,11)
Similarly, =(7+8)-(x1)
(49,14,15) =(15-1)
=[(4+9)-(+5)] x2 =14
=(13-6) x2 =14 (not equal to 8)
=7x2 4) (67,10,13)
=14 =(6+7)-(1x3)
1. (68,13,12) = (13-3)
=[(6+8)-(1+2)] x2 =10
=(14-3) x2 Hence, the correct answer is (67, 10, 13).
=22 (not equal to 13)
2) (81,87, 11) Q:9 The correct answer is Option 4 i.e. (5, 15, 11)
[(B+1)-(+1)]x2 Logic: The following logic is used
=(9-2) x2 (n,33,17)
=14 (not equal to 87) =Nx3=331+6=17
3) (38,8, 44) Similarly,
[((3+8)-(4+4)]x2 (18,54, 24)
=(Mm-8)x2 =18x3=5418+6=24
=6 (not equal to 8) 1. (8, 24, 17)
4) (58,18,13) =8x3=248+6=14notl7
[((5+8)-(1+3)] x2 2) (9,27,1)
=(13-4) x2 =9x3=27,9+6=15n0t1
=18 equal to 18 3) (3, 9, 7)
Hence, the correct answer is (58, 18, ]3). =3%x3=93+6=9n0t7
4) (5,15, 1)

Q:8 The correct answer is Option 4 i.e. (67, 10, 13)
Logic: The following logic is used
(89,12,13)

=(6+9)-(1x3)

= (15 - 3)

=12

Similarly,

(58,8,15)

=(5+8)-(1x5)

= (13-5)

=8

1. (39,13,12)

=(3+9)-(1x2)

=(12-2)

=10

=10 (not equal to 13)

2) (91,8,11)

=(9+1)-0x1)

=(10-1)
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=5x3=155+6=11
Hence, the correct answer is (5, 15, 1])

Q:10 The correct answer is Option 3 i.e. 83
5:27

52+2=25+2=27

9:7?

92+2=81+2=283
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